
N = 953
953 circles in a square

radius =   0.017043801931
ratio  =  58.672355149185

density  = 0.869712536825
contacts = 1775
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N = 954
954 circles in a square

radius =   0.017079170064
ratio  =  58.550854419613

density  = 0.874242214384
contacts = 1571

 E.SPECHT
21-JUL-2010

N = 955
955 circles in a square

radius =   0.017069112080
ratio  =  58.585355541033

density  = 0.874128146394
contacts = 1421
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N = 956
956 circles in a square

radius =   0.017046545865
ratio  =  58.662910827099

density  = 0.872731291270
contacts = 1607
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N = 957
957 circles in a square

radius =   0.017068634303
ratio  =  58.586995436177

density  = 0.875909744419
contacts = 639

 E.SPECHT
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N = 958
958 circles in a square

radius =   0.017045834023
ratio  =  58.665360620036

density  = 0.874484049629
contacts = 2630
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N = 959
959 circles in a square

radius =   0.017041353520
ratio  =  58.680784879990

density  = 0.874936736107
contacts = 1743
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N = 960
960 circles in a square

radius =   0.017037921377
ratio  =  58.692605623399

density  = 0.875496320844
contacts = 1611
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N = 961
961 circles in a square

radius =   0.017032750752
ratio  =  58.710422912894

density  = 0.875876436583
contacts = 2144
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N = 962
962 circles in a square

radius =   0.017022990888
ratio  =  58.744083608126

density  = 0.875783337458
contacts = 1407
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N = 963
963 circles in a square

radius =   0.017010440135
ratio  =  58.787426547389

density  = 0.875401449884
contacts = 2586
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N = 964
964 circles in a square

radius =   0.017005628862
ratio  =  58.804058827406

density  = 0.875814840273
contacts = 1216
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